Part #

81-822
11-234
11-436
11-437
32-513
32-503

Pro Gator Mounting
I nstructions#81-822

41-503
43-503

oO~NOOThA WN B

Drivers Side View ﬂ:

S|

SPRAYING DEVICES, INC.

1

I

v

-

Description

Radar Gun

Bracket

Plate for Bracket
Plate Back

Bolt 3/8 x 3-1/2" SS
Bolt 3/8 x 1" SS

Nut 3/8" SS

Lock Washer 3/8" SS

Rear View
Quantity

oo~ EFRPEFEPNPE

P1388/0711jj

Spraying Devices, Inc.eTel: (559)SDI-5581«Fax: (559)SDI-5591«email: sal es@sprayingdevices.com




